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QUESTION 2

2.1 
2.1.1 Mechanical advantage (MA) is the ratio of load to effort 		  (2)
2.1.2 Normal force is the perpendicular force exerted by a surface 
on an object that touches the surface. 		          (2)
2.2 MA= 
= 
= 2										               (3)
2.3 
2.3.1 3m										   (1)
2.3.2 To find reaction at Q take moments about point P:
	MCW     = MACW
  (100x 2)  = Q x 5
	200 = 5 Q												Q= 40 N									              (4)
2.3.3 To find reaction at P take moments about point Q:
		MCW     = MACW
(P x 5) = (100 x 3)
5 P = 100 x 3
P = 60 N			(4)



2.3.4 Class 1 lever 

[image: ]					Load 		Effort 		Fulcrum 			(6)

[22]

QUESTION 3

3.1 A substance that consists of one type of atoms or particlesthat has
chemicaland physical properties that does not change.
OR
A substance that has single type of material (elements or compounds)	                         (2)
3.2 
3.2.1 Mercury , gold, Iron, lead, potassium				(5)
3.2.2 Carbon, oxygen , chlorine, fluorine 				            (4)
3.2.3 Leadsupplied, Copper sulphide					            (2)
3.2.4 Lead chloride 								(2)
3.2.5 Potassium oxide 							            (2)
3.2.6 Copper chloride 								(2)

3.3 Halogens										(2)

3.4 Cation is a positively charged atom or molecule.
 Anion is a negatively charged atom or molecule.				            (4)

3.5
3.5.1 NaBr									(2)
3.5.2 CaO								            (2)
3.5.3 HCℓ								            (2)

                                                                                                                                              [31]


QUESTION 4

4.1 
4.1.1 10kg = 10kg x 1000 = 1000g					             (3)
4.1.2 C = (5 ÷ 9) x (F - 32) = (5 ÷ 9) x (98 - 32) = 36.670C		             (3)
4.1.3	400 000 000 m.s-1 = 4, 0 x 108m.s-1				                   (2)
4.1.4	0.5 hours =(0.5 x 60 x 60) = 1800 s					 (2)
4.2 speed = =  = 10 m.s-1							             (4)
4.3 
4.3.1 Fres. = F1 + F2
(20 N + 75 N) = 95 N (on the positive direction)				(2)
4.3.2 Fres. = F1 + F2
(20 N – 75 N) = - 55 N(on the negative direction)			            (2)
4.4 a =
 a = = -2.6 m.s-2							            (5)
[23]
Question 5

5.1 Gravitational potential energy is energy an object has because of its 
position from the surface of the earth.
Kineticenergyis the energy of an object due to its motion			            (4)
5.2 Ep= mgh
	=4 x 9.8 x 2 
	= 78.4 J 										(3)
5.3 EK=  mv2
 54 =(m) (3)2 
	m =12 kg										(3)

												[10]
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